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PART I GENERAL INTELLIGENCE 

 

1. In a certain code language, "SURAJ" is written as 

"RAJSU ". How is "MAHESH" written in that 

code language? 

 ,d fof'k"V dksM Hkk"kk esa "SURAJ" dks "RAJSU" 

fy[kk tkrk gSA bl dksM Hkk"kk esa "MAHESH" dks 

fdl izdkj fy[kk tk,xk\  

 (A) ESHHAM 

   (B) ESHMAH 

 (C) MAHESH 

       (D) MAHSHE 

2. Which of the given option would be a meaningful 

order of the following? 

 (1) Ghee (2) Milk (3) Curd 

 (4) Cow (5) Butter 

 fuEu esa ls dkSulk fodYi fuEu dk vFkZiw.kZ Øe 

gksxk\ 

 ¼1½ ?kh ¼2½ nw/k ¼3½ ngh 

 ¼4½ xk; ¼5½ eD[ku 

 (A) 42153 

     (B) 42513 

 (C) 34251  

        (D) 42351 

3. In the following question, select the missing 

number from the given series.  

 fuEufyf[kr iz'u esa nh xbZ Jà[kyk esa ls yqIr vad 

Kkr dhft,A  

  
 (A) 19     (B) 18  

 (C) 26       (D) 12  

4. If south-east is changed to North and North-east 

changed to west and so on, then what will come in 

place of south? 

 vxj nf{k.k&iwoZ] mÙkj esa cny tk, vkSj mÙkj iwoZ] 

if”pe esa cny tk, vkSj ;g Øe pyrk jgs rks 

nf{k.k ds LFkku ij D;k gksxk\  

 (A) South-West@nf{k.k if”pe 

    (B) North-east@mÙkj&iwoZ  

 (C) South-east@nf{k.k&iwoZ 

       (D) North-west@mÙkj&if”pe  

Direction:- Select  the related word/letters/number 

from the given alternatives. 

funsZ'k%&fn, x, fodYiksa esa ls lacaf/kr 'kCn@v{kj@la[;k 

dks pqfu,A 

5. : :: : ?
1 23 19

Z D H
                       

 (A) 
26

Z
 (B)  

12

O
 

 (C) 
11

K
 (D)  

10

P
 

6.  ACE : BDF : : TVX : ? 

 (A) XTW   (B)  UWY 

        (C) WXU        (D)  UYW 

7. If Friday falls on 15
th
 of September 2000, what 

will be the day on 15
th
 September 2001? 

 ;fn 15 flrEcj 2000 dks “kqØokj iM+rk gS rks 15 

flrEcj 2001 dks dkSulk okj gksxk\ 

 (A) Saturday /”kfuokj  

     (B) Sunday/jfookj 

 (C) Monday/lkseokj 

         (D) Wednesday/cq/kokj 

8. Arrange the given words in the sequence in which 

they occur in the dictionary.  

 fuEufyf[kr 'kCnksa dks 'kCndks'k esa vkus okys Øe ds 

vuqlkj fy[ksaA 

 (i) Manifest (ii) Meticulous 

 (iii) Meridian (iv) Merchant 

 (A) 1234    (B) 1342 

 (C) 1432         (D) 1423  

9. Identify the diagram that best represents the 

relationship among the given classes.  

 og vkjs[k pqfu, tks uhps fn, x, oxksZa ds chp ds 

laca/k dk lgh fu:i.k djrk gSA 

 Nitrogen, Air, Ice  ukbVªkstu] gok] cQZ 

 (A)     (B)  
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 (C)          (D)   

10. A piece of paper is folded and punched as shown 

below in the question figures. From the given 

answer figures, indicate how it will appear when 

opened. 

  uhps ds iz'u vkd`fr;ksa esa fn[kk, vuqlkj dkxt dks 

eksM+dj Nsnus rFkk [kksyus ds ckn og fdl mÙkj 

vkd`fr tSlk fn[kkbZ nsxk\ 

 

  

 

         

    (A)          (B)          (C)        (D)    

Direction:- Select  the related word/letters/number 

from the given alternatives. 

funsZ'k%&fn, x, fodYiksa esa ls lacaf/kr 'kCn@v{kj@la[;k 

dks pqfu,A    

11. Calendar : Date : : Dictionary : ?    

 dSys.Mj % rkjh[k % % “kCndks”k % \ 

 (A) Words/”kCn        (B) Books/fdrkcsa 

 (C)   Language/Hkk’kk  (D) Poem/dfork  

12. Cup: Crockery: : Shoes : ?    

 di % phuh feV~Vh ds crZu % % twrs % \ 

 (A) Footwear/QqVfo;j 

      (B) Leather/peM+k 

 (C) Ragjin/jSXthu          

 (D) Cloth/diM+k  

Direction:- Select the odd word/letters/number/number 

pair from the given alternatives. 

funsZ'k%& fn, x, fodYiksa esa ls fo"ke 

'kCn@v{kj@la[;k@ la[;k ;qXe dks pqfu,A  

13. (A) Mizoram/fetksje  (B) Sikkim/flfDde  

 (C) Kohima/dksfgek  (D) Manipur/ef.kiqj  

14. (A) B  (B) G  

 (C) K  (D) P  

15. (A) 236     (B) 433  

 (C) 66 (D) 725  

16. (A) ZPR  (B) PVB 

  (C) BHN  (D) DJP  

Direction:- A series is given with one  term missing. 

Select the correct alternatives from the given ones 

that will complete the series.  

funsZ'k%& ,d vuqØe fn;k x;k gS] ftlesa ls ,d in yqIr 

gSA fn, x, fodYiksa esa ls og lgh fodYi pqfu,] tks 

vuqØe dks iwjk djs 

17.   

  
 (A) 48       (B) 50 

 (C) 62          (D) 55 

18. aAbb, bBcc, cCdd, dDee, ? 

 (A) fFgg      (B) gGhh   

 (C) gHii          (D) eEff  

19. 9, 18, 12, 441, 15, ? 

 (A) 196      (B) 336   

 (C) 522          (D) 216  

20. 4117, 5138, 6159, 7170, ? 

 (A) 8291     (B) 8171  

 (C) 8181         (D) 8191  

21. In the following question, two statements are 

given each followed by two conclusions I and II. 

You have to consider the statements to be true 

even if they seem to be at variance from 

commonly known facts. You have to decide 

which of the given conclusion, if any, follows 

from the given statements. 

 fuEufyf[kr iz'u esa] nks dFku fn, x, gSa ftuds 

vkxs nks fu"d"kZ I vkSj II fudkys x, gSaA vkidks 

ekuuk gS fd dFku lR; gS pkgs os lkekU;r% Kkr 

rF;ksa ls fHkUu izrhr gksrs gksaA vkidks fu.kZ; djuk gS 

fd fn, x, fu"d"kksZa esa ls dkSu lk@dkSu ls fuf'pr 

:i ls dFkuksa }kjk lgh fudkyk tk ldr gS@ldrs 

gSa] ;fn dksbZ gksA 

 Statements: 

 (1) Some teachers are followers. 

 (2) Some followers are famous. 
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 dFku%& 

 ¼1½ dqN f’k{kd vuq;k;h gSA 

 ¼2½ dqN vuq;k;h izfl) gSA 

 Conclusion: 

 (1) Some teachers are famous. 

 (2) Some followers are teachers. 

 fu"d"kZ %& 

 ¼1½ dqN v/;kid izfl) gSaA 

 ¼2½ dqN vuq;k;h v/;kid gSA 

(A)  Only conclusion II follows  

  dsoy fu"d"kZ II ykxw gksrk gSA  

 (B)  Conclusion I and II both follows  

   fu"d"kZ I vkSj II nksuksa ykxw gksrs gSA  

 (C)  Neither I nor II follows  

   u fu"d"kZ I u gh II ykxw gksrk gSA 

 (D)  Only conclusion I follows  

  dsoy fu"d"kZ I ykxw gksrk gSA   

22. In the following question, which one set of letters 

when sequentially placed at the gaps in the given 

letters series shall complete it? 

 fuEufyf[kr iz'u esa v{kjksa dk dkSu lk lewg [kkyh 

LFkkuksa ij Øeokj j[kus ls nh xbZ v{kj Jà[kyk dks 

iwjk djsxk\ 

 ac _ bd _ ce_ df_egh  

 (A) degf    (B) defg 

 (C) dfge        (D) dfeg  

23. A word is represented by only one set of numbers 

as given in any one of the alternatives. The sets of 

numbers given in the alternatives are represented 

by two classes of alphabets as shown in the given 

two matrices. The columns and rows of Matrix- I 

are numbered from 0 to 4 and that of Matrix- II 

are numbered from 5 to 9. A la letters from these 

matrices can be represented first by its row and 

next by its column, for example, “O” can be 

represented by 65, 88  etc., and “F” can be 

represented by 13, 42   etc. Similarly, you have to 

identify the set for the word “NAVY”  

  ,d 'kCn dsoy ,d la[;k&lewg }kjk n'kkZ;k x;k 

gS] tSlk fd fodYiksa esa ls fdlh ,d esa fn;k x;k 

gSA fodYiksa esa fn, x, la[;k&lewg v{kjksa ds nks 

oxksZa }kjk n'kkZ, x, gSa] tSlk fd fn, x, nks vkO;qgksa 

esa gSaA vkO;wg&I ds LrEHk vkSj iafDr dh la[;k 0 ls 

4 gS vkSj vkO;wg&II dh 5 ls 9 gSA bu vkO;wgksa ls 

,d v{kj dks igys mldh iafDr vkSj ckn esa LrEHk 

la[;k }kjk n'kkZ;k tk ldrk gSA 

 mnkgj.k ds fy, “O” dks 65] 78 vkfn }kjk n'kkZ;k 

tk ldrk gS rFkk “F” dks 13] 42 vkfn }kjk n'kkZ;k 

tk ldrk gSA blh rjg ls vkidks iz'u esa fn, 'kCn 

“NAVY” ds fy, lewg dks igpkuuk gS 

                       Matrix - I 

vkO;wg&I 

 

0 1 2 3 4 

0 A T G D O 

1 I A N F I 

2 N V Y A F 

3 A N V S E 

4 O L F B N 

Matrix -II 

 vkO;wg &II 

  5 6 7 8 9 

5 Y N L R Y 

6 O I V A O 

7 Y L W O Y 

8 G R E W I 

9 V V Y H A 

  

       (A) 20, 34, 76, 68 

       (B) 12, 79, 95, 55 

    (C) 44, 23, 67, 69 

       (D) 56, 00, 96, 59 

24. How many dots will be there on the face opposite 

to the face with 2 dots? 

 nks fcUnqvksa okys Qyd ds foijhr Qyd ij fdrus 

fcUnq gksaxs\ 

 

  
 (A) 1 (B) 5  

 (C) 4 (D)  6 

 25. If a mirror is placed on the line MN, then which 

of the answer figures is the right image of the 

given figure? 

 ;fn ,d niZ.k dks MN js[kk ij j[kk tk,] rks nh 

xbZ mÙkj vkd`fr;ksa esa ls dkSu lh vkd`fr iz'u 

vkd`fr dh lgh izfrfcEc gksxh\ 

 

  

 

         
(A)                     (B)        (C)             (D) 
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PART -II  (General Awareness) 
 

26. Which of the following country has given its 

consent to “Rupay” card ? 

 fuEu esa ls fdl ns”k us :i;s dkMZ dks viuh 

lgefr iznku dh gS\ 

 (a) Fiji/fQth 

 (b) Bahrain/cgjhu  

 (c) Singapore/flaxkiqj 

 (d) Britain/fczVsu 

27. Which of the following country does not 

have its own payment gateway? 

 fuEu esa dkSuls ns”k ds ikl viuk [kqn dk 

isesUV xsVos ugha gS\ 

 (a) India/Hkkjr 

 (b) South Korea/lkmFk dksfj;k  

 (c) America/vesfjdk 

 (d) China/phu 

28. Which of the following created new world 

record of playing 154 cricket test matches 

continuously?  

 fuEu esa ls fdlus yxkrkj 154 fØdsV VsLV eSp 

[ksyus dk u;k fo”o fjdkMZ cuk;k gS\ 

 (a) Aliester Cook/,fy,LVj dqd 

 (b) Brendon Mccullum/czSUMu eSdqye  

 (c) Adam Gilchrist/,Me fxyØLV 

 (d) AB Di villiers/,- ch- fMfofy;Zl 

29. Fourth Indian International Science Festival-

2018 will be celebrated in? 

 prqFkZ Hkkjrh; vUrjkZ’Vªh; foKku egksRlo & 

2018 euk;k tk;sxk\ 

 (a) Leh/ysg 

 (b) New Delhi/ubZ fnYyh  

 (c) Lacknow/y[kuÅ 

 (d) Hyderabad/gSnjkckn 

30. First Indian State which created the post of  

“State Securities advisor”? 

 og igyk Hkkjrh; jkT; ftlus jkT; lqj{kk 

lykgdkj dk in l̀ftr fd;k gS\ 

 (a) U. P./;w- ih- 

 (b) Bengal/caxky  

 (c) M. P./,e- ih- 

 (d) Karnataka/dukZVd 

31. Recently in which country “No Confidence 

Motion” against prime minister has been 

passed? 

 gky gh esa fdl ns”k esa iz/kkuea=h ds f[kykQ 

vfo”okl izLrko ikl fd;k x;k\ 

 (a) Sweden/LohMu 

 (b) Philippines/fQyhfial  

 (c) Spain/Lisu 

 (d) Pakistan/ikfdLrku 

32. The Simon commission was formed to 

review? 

 lkbeu deh”ku fdl dk fujh{k.k djus ds fy, 

cuk;k x;k Fkk\ 

 (a) Legislature of India/Hkkjr dh fo/kkulHkk 

 (b) Fitness of India for further reforms/vkxs 

ds lq/kkjksa ds fy, Hkkjr dh rS;kjh  

 (c) The position of viceroy/ok;ljk; dh 

fLFkfr 

 (d) A constitution of India/Hkkjr ds lafo/kku 

33. The home rule league was started by(in 

india)? 

 gkse :y yhx dh “kq:vkr fdlds }kjk dh 

xbZ(       )\ 
 (a) M. Gandhi/egkRek xka/kh 

 (b) B. G. Tilak/cky xaxk/kj fryd  

 (c) J. L. Nehru/tokgj yky usg: 

 (d) Rajendra Prasad/jktsUnz izlkn 

34. Which of the following is a famous 

Assamese festival? 

 fuEu esa ls dkSulk izfl) vlfe;k R;kSgkj gS\ 

 (a) Makar Sakranti/edj laØkfUr 

 (b) Yugadi/;qxkMh  

 (c) Onam/vks.ke 

 (d) Rongali Bihu/            
35. A presidential Ordinance can remain in force 

….? 

 jk’Vªifr dk v/;kns”k fdruh vof/k rd izHkko 

esa jg ldrk gS\ 

 (a) for three months/rhu eghus ds fy, 

 (b) for six months/6 eghus ds fy,  

 (c) for nine months/ukS eghus ds fy, 

 (d) indefinitely/vfuf”pr dky 

36. Consider the following statements? 

 fuEu dFkuksa ij fopkj djsa& 

(1) The president of India can be impeached 

by the Indian parliament. 
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@Hkkjrh; laln }kjk Hkkjrh; jk’Vªifr dks 

in eqDr fd;k tk ldrk gSaA 

(2) The process of impeachment cannot be 

started in upper house or Rajya Sabha.   

 in eqfDRk dh izfØ;k mPp lnu ;k jkT;lHkk esa 

izkjEHk ugha dh tk ldrhA  

 (a) Only 1
st
 is true/flQZ igyk lgh gSA 

 (b) Only 2
nd

 is ture/flQZ nwljk lgh gSA  

 (c) Neither 1
st
 nor 2

nd
 is true/u rks 1 u gh 2 

lgh gSA 

 (d) Both are true/nksuksa lgh gSA 

37. Which of the following is not an all India 

service? 

 fuEu esa dkSulh vf[ky Hkkjrh; lsok ugha gSA 

 (a) Indian Administration Service/Hkkjrh; 

iz”kklfud lsok 

 (b) Indian Foreign Service/Hkkjrh; fons”k lsok  

 (c) Indian Police Service/Hkkjrh; iqfyl lsok 

 (d) Indian Forest Service/Hkkjrh; ou lsok 

38 Which of the following is an Ohmic 

Conductor? 

 fuEu esa ls dkSulk vkseh; pkyd gSA 

 (a) Germanium/tesZfu;e 

 (b) Silicon/flfydku  

 (c) Carbon/dkcZu 

 (d) Silver/flYoj 

39. Person who is color blind can not distinguish 

between: 

 ,d o.kkZU/k O;fDr fdl ds chp Hksn ugha dj 

ikrk\ 

 (a) Black & Yellow/dkyk vkSj ihyk 

 (b) Red & Green/yky vkSj gjk  

 (c) Yellow & White/ihyk vkSj lQsn 

 (d) Green & Blue/gjk ,oa uhyk 

40. What is Bakelite? 

 cSdsykbV D;k gS\ 

 (a) Solution/foy;u 

 (b) Acid/vEy  

 (c) Base/{kkj 

 (d) polymer/ikWfyej 

41. Chemical name of quartz is: 

 DokVZt dk jklk;fud uke gS% 

 (a) Calcium Oxide/dSfYl;e vkWDlkbZM 

 (b) Calcium Phosphate/dSfYl;e QkWLQsV  

 (c) Sodium Phosphate/lksfM;e QkWLQsV 

 (d) Sodium Silicate/lksfM;e flfydsV 

42. A solution is - 

 ,d foy;u gS & 

 (a) A homogenous mixture of two or more 

substances/nks ;k nks ls vf/kd inkFkksZa dk 

lekaxh feJ.k 

 (b) A solid dissolved in liquids/rjy esa ?kqyk 

Bksl  

 (c) A solid dissolved in water/ikuh esa ?kqyk 

Bksl 

 (d) A mixture of two liquids/nks rjy dk 

feJ.k 

43. Which of the following days is not observed 

in the month of October? 

 fuEu esa ls dkSulk fnol vDVwcj eghus esa ugha 

euk;k tkrk gS\ 

 (a) Indian –Air force Day/Hkkjrh; ok;q lsuk 

fnol 

 (b) U. N. Day/;w- ,u- fnol  

 (c) World Environment Day/fo”o i;kZoj.k 

fnol 

 (d) International day of Non-

violence/varjkZ’Vªh; vafglk fnol 

44. The age of trees is determined by its -  

 isM+ dh mez fdlls Kkr dh tkrh gS\ 

 (a) Girth/eksVkbZ ls 

 (b) Height/Å¡pkbZ  

 (c) Growth rings/o`f) oy;ksa esa 

 (d) General appearance/lkekU; fn[kkoV esa 

45. Maximum photosynthesis activity occurs in? 

 izdk'k la”ys’k.k dh fØ;k vf/kdre gksrh gS\ 

 (a) Blue and Red region of light/izdk”k ds 

uhys ,oa yky jax esa 

 (b) Green and yellow region of light/izdk”k 

ds gjs ,oa ihys {ks= esa  

 (c) Blue and orange region of light/izdk”k ds 

uhys ,oa ukjaxh {ks= esa 

 (d) violet and orange region of light/izdk”k ds 

cSaxuh ,oa ukjaxh jax {ks= esa 

46. Which of the following is known as vitamin 

B1? 

 fuEu esa ls fdls foVkfeu B1 ds uke ls tkuk 

tkrk gSA 

 (a) Retinol/jsfVukWy 

 (b) Thiamin/Fkkbfeu  
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 (c) Riboflavin/jkbcks¶ysfou 

 (d) Ascorbic Acid/,LdkWfcZd vEy 

47. The demand of labour is called? 

 Ektnwjksa dh ekax dgykrh gS\ 

 (a) Market Demand/cktkj ekax 

 (b) Direct Demand/izR;{k ekax  

 (c) Derived Demand/O;qRiUu ekax 

 (d) Factory Demand/QSDVjh ekax 

48. Bilateral monopoly refers to market situation 

of - 

 f}i{kh; ,dkf/kdkj cktkj dh fLFkfr dks 

iznf”kZr djrk gS\ 

 (a) Two sellers, two buyers/nks foØsrk] nks 

Øsrk 

 (b) One seller and two buyers/,d foØsrk vkSj 

nks Øsrk  

 (c) Two sellers and one buyer/nks foØsrk vkSj 

,d Øsrk 

 (d) One seller and one buyer/,d foØsrk vkSj 

,d Øsrk 

49. Consider the following facts and find the 

relevant match. 

 fuEu dFkuksa ij fopkj djsA  

 Tributary@lgk;d unh  Main River@eq[; unh 

 (1) Chambal/pEcy  Narmada/ueZnk 

 (2) Sone/lksu   Yamuna/;equk 

 (3) Manas/ekul   Brahmaputra/czãiq= 

 Which if the following pairs given above are 

correctly matched? 

 mijksDr esa ls dkSulk@dkSuls tksM+s lgh lqesfyr 

gS\ 

 (a) 1, 2, 3 

 (b) 1, 2  

 (c) 2, 3 

 (d) Only 3@flQZ 3 

50. Which river flows between the satpurans and 

the Vindhyas? 

 lriqM+k ,oa fo/;kapy ds chp dkSulh unh cgrh 

gS\ 

 (a) Godaveri/xksnkojh 

 (b) Gandak/xaMd  

 (c) Tapti/rkIrh 

 (d) Narmada/ueZnk 

Part - III (Quantitative Aptitude) 

Hkkx & III ¼ek=kRed vfHk{kerk½ 
 

51. If 

2 26sin tan
10

4cos

 



, then cos  is equal to:- 

 ;fn 

2 26sin tan
10

4cos

 



gks rks cos dk eku 

gksxk\  

 (a) 
5

3
 (b) 

4

3
 

 (c) 
2

3
 (d) 

1

3
 

52. If sum of three consecutive numbers is 2262. 

Which is 41% of the highest number?  

 ;fn rhu yxkrkj la[;kvksa dk ;ksxQy 2262 gS rks 

lcls cM+h la[;k dk 41% gksxk\ 

 (a) 303.14 (b) 308.73 

 (c) 306.35 (d) 309.55 

53. The ascending order of rational numbers 

7 5 2
, ,

10 8 3

  
is:- 

 ifjes; la[;kvksa 
7 5 2

, ,
10 8 3

  
dk c<+rk gqvk Øe 

gS\ 

 (a) 
7 5 2

, ,
10 8 3

  
 (b) 

7 2 5
, ,

10 3 8

  
 

 (c) 
5 7 2

, ,
8 10 3

  
 (d) 

2 5 7
, ,

3 8 10

  
 

54. The upper 

th3

4
portion of a vertical pole subtends 

an angle 
1 3

tan
5


 at a point in the horizontal 

plane through its foot at a distance 40m from the 

foot. A possible height of the vertical pole is:-  

 ,d mèokZ/kj [kaHks dk Åijh 
3

4
 Hkkx {kSfrt lery 

esa blds ry ls 40 m dh nwjh ij fLFkr ,d fcanq 

ij 
1 3

tan
5


dks.k curk gSA [kaHks dh lEHko Å¡pkbZ 

gksxhA  

 (a) 20m  (b) 40m  

 (c) 60m  (d) 80m  

55. If x 3 2 0    and y 3 2 0   , then 

value of    3 3x 20 2 y 2 2   Would be:-

;fn x 3 2 0   vkSj y 3 2 0    gks 

rks    3 3x 20 2 y 2 2    dk eku gksxk\ 
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 (a) 2 (b) 3 

 (c) 1 (d) 0 

56. If 
x 1 a

x 1 b





and 

1 y b

1 y a





then 

x y

1 xy




 is:- 

 ;fn 
x 1 a

x 1 b





vkSj 

1 y b

1 y a





gks rks 

x y

1 xy




dk 

eku gksxk\ 

 (a) 

2 2a b

ab


 (b) 

2 2a b

2ab


 

 (c) 

2 2a b

2ab


 (d) 

2 2

2ab

a b
 

57. If 
x 2 x 2

a
x 2 x 2

  


  
, then the value of a

2
 - 

ax is:- 

 ;fn 
x 2 x 2

a
x 2 x 2

  


  
gks rks a

2
 - ax dk eku 

gksxk\  

 (a) 2 (b) 1 

 (c) 0 (d) -1 

58. The value of  

  
3

3
1

3
1

3
3







is:- 

 
3

3
1

3
1

3
3







dk eku gksxk\ 

 (a) 
40

11
 (b) 

33

10
 

 (c) 
46

11
 (d) 

41

11
 

59. Vishal goes to a shop to buy a radio costing 2568 

Rs. The rate of sales tax is 7%. He tells the 

shopkeeper to reduce the price of the radio to 

such an extent that he has to pay 2568 Rs, 

including sales tax. Find the reduction needed in 

the price of the radio. 

 fo'kky ,d jsfM;ks ftldh ykxr 2568 #- gS 

[kjhnus ds fy, ,d nqdku ij tkrk gSA fcØh dj 

dh nj 7% gS mlus nqdkunkj ls jsfM;ksa dk ewY; 

bl izdkj ?kVkus dks dgk  fd mls fcØh dj lfgr 

2568 #- pqdkus iM+sA jsfM;ks ds ewY; esa dh xbZ 

deh gSA  

 (a) 179.76 #-/Rs (b) 170 #-/Rs  

 (c) 168 #-/Rs  (d) 169 #-/Rs 

60. Which one of the following is not correct?  

 fuEu esa ls dkSulk lgh ugha gS\ 

 (a) (1-cosx)(1 +cosx) = sin
2
x 

 (b) (1-cos2x)(1 +cos2x) = sin
2
2x 

 (c)  
2(1 cos ) 2sin 2

2

x
x    

 (d) (sinx + cosx)(sinx - cosx) = cos2x 

61. Rampur is 100 km from Sitapur. At 3 pm Bharat 

Express leaves for Sitapur from Rampur and 

travels at a constant speed of 30 kmph. One hour 

later. Laxman mail leaves Sitapur for Rampur 

and travels at a constant speed of 40 kmph. Each 

train stops at every 10 km from its starting point 

and remains there for 15 minutes. Which train is 

nearer to Rampur when they meet? 

 jkeiqj lhrkiqj ls 100 fdeh- nwj gSA 3 cts Hkjr 

,Dlizsl jkeiqj ls lhrkiqj ds fy, fudyrh gS rFkk 

30 kmph dh fuf'pr xfr ij pyrh gSA ,d ?kaVs 

ckn y{e.k ,Dlizsl lhrkiqj ls jkeiqj ds fy, 

fudyrh gS rFkk 40 kmph dh ,d fuf'pr xfr ls 

pyrh gSA izR;sd jsyxkM+h vius izkajfHkd fcanqvksa ls 

10 fdeh- dh nwjh ij 15 feuV ds fy, :drh gSA 

rks muds feyus ds le; dkSulh jsyxkM+h jkeiqj ds 

ikl gksxh\ 

 (a) Both are equidistant/nksuksa cjkcj nwjh ij gS 

 (b) Laxman Mail/ y{e.k esy  

 (c) Bharat Express/ Hkjr ,Dlizsl 

 (d) None of these/ buesa ls dksbZ ugha  

62. A man rows to a place 48 km distant and back in 

14 hours. He finds that he can row 4 km with the 

stream in the same time as 3 km against the 

stream. The rate of the stream is:- 

 ,d vkneh 48 fdeh- nwj ,d LFkku ij uko ls 

tkus rFkk okil vkus esa 14 ?kaVs ysrk gSA mls 

yxrk gS fd og leku le; esa /kkjk ds lkFk 4 

fdeh- rFkk /kkjk ds foijhr 3 fdeh- tk ldrk gSA 

/kkjk dh xfr gS\  

 (a) 1 km/hr/1 fdeh-@?k.Vk  

 (b) 1.5 km/hr/ 1.5 fdeh@?kaVk  

 (c) 1.8 km/hr/ 1.8 fdeh@?kaVk  

 (d) 3.5 km/hr/ 3.5 fdeh@?kaVk 

63. The average age of 8 persons in a committee is 

increased by 2 years when two men aged 35 

years and 45 years are substituted by two 

women. The average age of these two women 

is:- 

 ,d lfefr ds 8 lnL;ksa dh vkSlr vk;q 2 o"kZ c<+ 

tkrh gS tc 35 lky rFkk 45 lky ds 2 iq#"kksa dh 
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txg 2 efgyk,¡ ys ysrh gSA bu nksuksa efgykvksa dh 

vkSlr vk;q gS\ 

 (a) 52 years/ o"kZ (b) 56 years/ o"kZ 

 (c) 48 years/ o"kZ  (d) 44 years/ o"kZ  

64. The cost of a house - plot is Rs. 150,000. After 

one year, cost of the plot increases by 10%. At 

the end of the second year, cost of the plot 

increase by 15% over its cost after the first year. 

The cost of the plot at the end of the second year 

will be:- 

 ,d IykWV ?kj dh dher 150000 #- gSA ,d lky 

ckn IykWV dh dher 10% c<+ tkrh gSA nwljs lky 

ds var esa bldh dher igys lky ds var dh 

dher ls 15% c<+ tkrh gSA f}rh; o"kZ ds var esa 

IykWV dh dher gksxh\ 

 (a) 16,5000 Rs.  (b) 17,4750 Rs.  

 (c) 18,7500 Rs.  (d) 18,9750 Rs.  

65. There are two taps to fill a tank and a third to 

empty it. When the third tap is closed, they can 

fill the tank in 10 minutes and 12 minutes 

respectively. If all the three taps be opened, the 

tank is filled in 15 minutes. If the first two taps 

are closed, in what time can the third tap empty 

the tank when it is full?  

 ,d Vadh esa 2 Hkjus okys rFkk 1 [kkyh djus okyk 

uy yxk gqvk gSA tc rhljk uy can gksrk gS rks 

nksuksa uy Vadh dks Øe'k% 10 feuV rFkk 12 feuV 

esa Hkj nsrs gSA tc rhuksa uy [kqys gks rks Vadh 15 

feuV esa Hkj tkrh gSA ;fn izFke nksuksa uy can gks 

rks fdrus le; esa rhljk uy iw.kZr;k Hkjh gqbZ Vadh 

dks [kkyh dj ldrk gS\ 

 (a) 8 minute 34 sec/ 8 feuV 34 lsadaM 

 (b) 9 minute 32 sec/ 9 feuV 32 lsdaM  

 (c) 7 minute/ 7 feuV  

 (d) 6 minute/ 6 feuV  

Direction:- The pie- chart, given here, shows the land 

distribution of a village.  

 Study the pie- chart and answer the questions 

based on it- 

funsZ”k %& fn;k x;k ikbZ pkVZ ,d xkao ds tehu forj.k 

dks n”kkZrk gSA 

 ikbZ pkVZ dk v/;;u djsa vkSj ml ij vk/kkfjr 

iz”uksa dk mÙkj nhft;sA 

 
66. If the total area of the village is 7200 acres, the 

total area of the wet land is:- (In acres)  

 ;fn xk¡o dk dqy {ks=Qy 7200 ,dM+ gS rks xhyh 

Hkwfe dk {ks=Qy fdrus ,dM+ gksxk\ 

 (a) 1028 (b) 5040 

 (c) 3600 (d) 1400 

67. The land used for roads is what percentage of the 

inhabited land?  

 lM+dksa ds fy, mi;ksx Hkwfe fuokl ;ksX; Hkwfe dk 

fdruk izfr'kr gS\ 

 (a) 
2

66
3
 (b) 48 

 (c) 
1

33
3
 (d) 30 

68. The ratio of the waste land to the cultivable land 

is?  

 O;FkZ Hkwfe dk d`f"k ;ksX; Hkwfe ls D;k vuqikr gS\ 

 (a) 4 : 3  (b) 3 : 2  

 (c) 2 : 1  (d) 3 : 1 

69. What percent of total land is used for 

cultivation?  

 lEiw.kZ Hkwfe dk fdruk izfr'kr Hkkx d`f"k ;ksX; gS\  

 (a) 24 (b) 25 

 (c) 50 (d) 90 

70. In the given figure below if line segment AB is 

parallel to line segment CD, what is the value of 

Y? 

 uhps fn, x, fp= esa Hkqtk AB Hkqtk CD ds lekUrj 

gS rks Y dk eku gksxk\ 

 
 (a) 12º (b) 15º 

 (c) 18º (d) 20º 
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71. A rectangular tank measuring internally 
1

37
3

meters in length, 12 meters in breadth and 8 

meters in depth, is full of water. Find the weight 

of water in metric tons, given that one cubic 

meter of  water weight 1000 kgs.  

 ,d vk;rkdkj VSad ftldh vkarfjd yackbZ ]pkSM+kbZ 

vkSj xgjkbZ Øe'k% 
1

37
3

m, 12m vkSj 8m gS] ikuh 

ls iwjk Hkkx gqvk gSA ikuh dk Hkkj ehfVªd Vu esa 

Kkr djksa ;fn ,d ?ku eh- ikuh dk otu 1000 

fdxzk- gksa& 

 (a) 3584 (b) 35840 

 (c) 358400 (d) None of these/ buesa ls dksbZ 

ugha  

72. The number of revolutions made by a wheel of 

diameter 56 cm in covering a distance of 1.1 km 

is: - 

 ,d ifg, ftldk O;kl 56 lseh- gS] ds }kjk 1.1 

fdeh- dh nwjh r; djus esa yxk, x, pDdjksa dh 

la[;k Kkr djksaA 

 (a) 31.25 (b) 56.25 

 (c) 625 (d) 62.5 

73. A sum of money becomes eight times in 3 years, 

if the rate is compounded annually. In how many 

years the same amount at the same compound 

interest rate will become sixteen times? 

 ,d ewy/ku pØo`f) C;kt dh fdlh nj ls 3 o"kZ esa 

8 xquk gks tkrk gSA fdrus o"kksZa esa ;g 16 xquk gks 

tk,xk ;fn ewy/ku rFkk pØo`f) C;kt dh nj 

leku gksaA  

 (a) 6 years/ o"kZ  (b) 4 years/ o"kZ  

 (c) 8 years/ o"kZ  (d) 5 years/ o"kZ  

74. In a forest reserve, the ratio of number of deer, 

bears and fox is 3 : 7 : 5. If the difference 

between the number of deer and bears is a 

multiple of 3 as well as 7, what is the minimum 

number of animals in the park?  

 ,d taxy {ks= esas] fgj.k] Hkkyw rFkk yksefM+;ksa dk 

vuqikr 3 % 7 % 5 gSA ;fn fgj.kksa rFkk Hkkywvksa dh 

la[;k dk vUrj 3 rFkk 7 dk xq.kt gks rks ikdZ esa 

U;wure tkuojksa dh la[;k Kkr djksA  

 (a) 315 (b) 310 

 (c) 45  

 (d) can't be determined @Kkr ugha fd;k tk 

ldrk   

75. A square of side x cm is cut from each corner of 

a rectangular sheet of metal of 10cm ×14cm. The 

resulting projections are folded up and the seams 

welded to construct an open box. What is the 

volume of the box thus obtained? 

 ,d vk;rkdkj /kkrq dh pknj ¼10 lseh × 14 lseh½ 

ds izR;sd dksus ls ,d x lseh Hkqtk dk oxZ dkVk 

x;k gSA “ks’k vkd`fr dks eksM+k tkrk gS RkFkk ,d 

[kqyk gqvk cDlk cukus ds fy, osYM fd;k tkrk 

gSA rks bl izdkj cus ckDl dk vk;ru D;k gksxk\    

 (a) 
3 24 48 140x x x   

 (b) 
3 24 48 140x x x   

 (c) 
3 224 140x x x    

 (d) None of these@buesa ls dksbZ ugha 

 

Section-IV:- English Language and 
Comprehension Ability 

 
Directions: In question no. 76 to 77, some parts of the 

sentence have errors and some are correct. Find 

out which part of a sentence has an error and select 

the appropriate option. If a sentence is free from 

error, select 'No error'. 

76  The writer could have tried(A)/to assess Deva 

Gowda's tangible contribution to the nation in 

comparison to(B)/our other Prime Ministers who 
ruled for a short period.(C)/ no error.(D) 

77 Attempts were made (A)/to easy restrictions, 

including (B)/through a case.(C)/ no error.(D) 

Directions: In questions no, 78 to 79 sentences given 

with blanks are to be filled in with an appropriate 

words. Select the correct alternative out of the four 

and indicate it by selecting the appropriate option. 

 

78  Both spot fixing and match fixing will continue as 

long as new players keep ....... . 

(A) to emerge 

(B) emerging 

(C) to emerging 

(D) emerged 

79  Democracy ......... some values which are 

fundamental to the realisation of the dignity of man. 

(A) cherishes    (B) nourishes  

(C) espouses  (D) harbours 

Directions: In question no. 80 to 81, out of the four 

alternatives, out of four alternatives, select the 

word similar in meaning to the word given. 

80  Invidious 
(A) Weak   (B) Unpopular  

(C) Flourishing  (D) Starving 

81  Grave 

(A)Formidable  

(B) Bitter 
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(C) Pregnant 

(D) Solemn 

     Directions: In question no. 82 to 83, out of four 

alternatives, select the word opposite in meaning 

to the word given. 

82  Demon 

(A)Charitable           (B) Kind-hearted 

(C)Angel      (D) Fair-minded 

83  Fecund 

(A)Barren  (B) Solid 

(C)Unploughed  (D) Hard 

Directions:- In question no.84 to 85 four words are given 

in each question, out of which only one word is 

incorrectly spelt. Select the incorrectly spelt word. 

84   (A) Delactable  (B) Descendant 

       (C) Diarrhoea  (D) Detraction 

85.   (A) Demonstration  (B) Tution 

        (C) Mendacious  (D) Audience  

Directions: In question no 86 to 87, four alternatives are 

given for the IDIOM/PHRASE. Choose the 

alternative which best expresses the meaning of 

the Idiom/phrase.  

86 Toil and moil 

(A) hard labour 

(B) a fruitless job 

(C) a mysterious thing 

(D) an interesting job 

87 In the twinkle of an eye 

       (A) Before one's own eyes 

(B) very quickly 

(C) when everybody had their eyes turned away 

(D) magically 

Direction: In question no. 88 to 89 out of the four 

alternatives, select the alternative which is the best 

substitute of the phrase. (ONE WORD) 

88. One who behaves amorously without serious 

intention. 

(a) Courtly           (b) Flippant  

(c) Frivolous           (d) Flirt  

89 Regard for others as a principal of action. 

(a) Altruism             (b) Pessimist  

(c) Cynicism             (d) Nepotism 
Directions:(90-91) Improve the bold part of the sentence. 

(S. I.) 
90 India can seek Brazil's technical assistance for 

implementing the use of green (fuel) technology. 

Pursuing this option can ensure farmer welfare. 

(A) Assistance in implementation 

(B) Assistance to implement 

(C) Assistance in implementing 

(D) No improvement 

91 Now that the plan to sell the airlines( Air India) has 

come to cropper , the government should write off 

the amount and entrust the airline to an able 

administrator. 

(A) come in cropper  

(B) come a cropper 

(C) come to a cropper 

(D) No improvement 

 

Directions:(92-93):- The questions below consist of a set of 

labeled sentences. Out of the four options given, 

select the most logical order of the sentence to form a 

coherent paragraph(PQRS) 

 

92 (1) The decomposer 

P: and hence help to clean the environment 

Q: help in decomposing the 

R: dead bodies of plants and animals 

S: and put back various useful elements 
(6) into soil, air and water. 

Options: 

(A) PSQR 

(B) QPRS 

(C) QRPS-   

(D) SQRP 

93 (1) The claim is not   

P: of any kind 

Q: but 

R: that it is without morality 

S: that science is actively anti-moral 

Options: 
(A) PSQR 

(B) RPQS 

(C) RQSP 

(D)SQRP 

94 In the following question, a sentence has been given 

in Active/Passive voice. Out of four alternatives 

suggested, select the one which best express the same 

sentence in Passive/Active voice. 

Prepare yourself for the worst. 
(A) You yourself be prepared for the worst 

(B) The worst should be prepared by yourself. 

(C) Be prepared for the worst. 

(D) For the worst preparation should be made by you. 

 

95 In the following  question, a sentence has been given 

in Direct/Indirect speech. Out of four alternatives 

suggested, select the one which best expresses the 

same sentence in Direct/Indirect speech. 

"It is a pleasure to do a business with you", he said 

(A)He said that it was a pleasure to do business with me. 

(B) He said that it is a pleasure to do business with you. 

(C)He conveyed the pleasure to do business with you   . 
(D)He wondered at the pleasure to do business with you. 

 

Directions(96-100):- In the following passage some of the 

words have been left out. Read the passage carefully 
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and select the correct answer for the given blank out 

of the four alternatives. (CLOZE TEST) 

     William Shakespeare was an English playwright, actor 

and poet also known as the "Bard of Avon" and often 

..96......England's national poet. Born in Stratford-

upon-Avon, England, he was an important member 

of the Lord Chamberlain's Men company of theatrical 

players from roughly 1594 onwards. Written records 

give little.. ..97...... of the way in which 

Shakespeare's professional life ....98....his artistry. 

All that can be ......99........ is that, in his 20 years as a 

playwright, Shakespeare wrote plays that ...100.... the 

complete range of human emotion and conflict. 

 

96 .(A) called 

(B) renown 

(C) said 

(D) regards 

 

97 (A) consideration  

(B) compendium 

(C) indication 

(D) instincts 

 

98 (A) folded 

(B) molded 

(C) drawn 

(D) transformed 

 

99 (A) declined 

(B) deducted 

(C) deduced 

(D) shrouded 

 

100 .(A) captures 

(B) capture 

(C) envelopes 

(D) wraps up 
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